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Nearest Neighbor :
Repeat
calculate_distance(p1, p2)
if distance is minimum
put the node in visited_node
delete the node from unvisited_node
plus the distance
Until unvisited_node is null
Return G, visited_node, total _distance

[ 4] Nearest Neighbor Algorithm Pseudocode
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2-Opt Algorithm 2 Nearest Neighbor Algorithm 2| Z1tE HE Q2 2 7§9| Node L+ Edge E

st & H27t 445 neks fXABH, AFX @l J|EL| ZuE RAShs YHOIL.
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2-Opt(visited_node2, total_distance?2) :
Repeat for all edges

Exchange two edges
if the total distance is reduced

keep the exchange
else

put it back to original order

[13 6] 2-Opt Algorithm Pseudocode
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Greedy 2-Opt(visited_node2, total_distance?2) :
Repeat for all edges
if the edge is not in greedy_list
Exchange two egdes
if the total distance is reduced
keep the exchange
else
put it back to original order

[ 8] Greedy 2-Opt Algorithm Pseudocode
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Number of nodes : 5000

<result of nearest neighbor algorithm>

total _distance is 31169.634260374132

Elapsed Time : 1.263993740081787

.

[2% 13] Result of N = 5000

Number of nodes : 10000

nearest neighbor algorithm>

total_distance

Elapged Time

total_distance is

Elasped Time : 30.1900134086

[ 14] Result of N = 10000
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